	А	В	С	D	E	F	G	Н
1					Ferguso	on Waterworks	Core	& Main LP
	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
3	1	Adaptor, gasket, insulating – Dresser #0102, ¾-inch or acceptable equal as long as all specifications match.	800	EA.	\$13.65	\$10,920.00	\$6.20	\$4,960.00
4	2	Adaptor, gasket, insulating – Dresser #0103, inch IPX 1-inch COP inch or acceptable equal as long as all specifications match.	100	EA.	\$14.35	\$1,435.00	\$6.14	\$614.00
5	3	Clamp, 6-inches x 10 inches FC repairs, to fit pipe size 6.91 -7.28, Smith Blair#226-69210 or acceptable equal as long as all specifications match.	400	EA.	\$190.10	\$76,040.00	\$122.92	\$49,168.00
6	4	Clamp, 6-inches x 15- inches FC repair, to fit pipe size 9.00 – 9.40 Smith Blair #226- 90510-00 or acceptable equal as long as all specifications match.	80	EA.	\$275.85	\$22,068.00	\$137.61	\$11,008.80
7	5	Clamp, 6 inches X 15 inches FC repair, to fit AC pipe size 7.05 - 7.45, Smith Blair #226-00071015000, or acceptable equal.	60	EA.	\$279.44	\$16,766.40	\$181.10	\$10,866.00
8	6	Clamp 8 –inches x 10-inches FC repair, fit pipe size 9.00 – 9.40 Smith Blair # 226 - 90510-000 or acceptable equal as long as all specifications match.	120	EA.	\$221.86	\$26,623.20	\$198.00	\$23,760.00
9	7	Clamp 8 –inches x 15-inches FC repair, fit pipe size 9.00 – 9.40 Smith Blair # 226 - 090515 or acceptable equal as long as all specifications match.	60	EA.	\$319.93	\$19,195.80	\$198.44	\$11,906.40
10	8	Clamp 10 –inches x 15-inches FC repair, range 11.04-11.44 Smith Blair # 226 - 090515 or acceptable equal as long as all specifications match.	10	EA.	\$399.50	\$3,995.00	\$225.00	\$2,250.00
11	9	Clamp. ¾-Inchs cast iron, repair, 245- 00010503-000 Smith Blair 245 or acceptable equal as long as all specifications match.	250	EA.	\$11.53	\$2,882.50	\$5.92	\$1,480.00
12	10	Clamp, 1-inch x 3-inch cast iron, repair 245- 00013203-00, Smith Blair 245 or acceptable equal as long as all specifications match.	100	EA.	\$12.60	\$1,260.00	\$6.48	\$648.00
13	11	Clamp, 1- 1/2- inches x 3-inches cast iron, repair 245-00019003-00, Smith Blair 245 or acceptable equal as long as all specifications match.	75	EA.	\$13.90	\$1,042.50	\$7.15	\$536.25
14	12	Clamp ¾-inches x 6-inches cast iron repair 254-00010506-000 Smith Blair or acceptable equal as long as all specification match.	100	EA.	\$21.51	\$2,151.00	\$11.10	\$1,110.00
15	13	Clamp, 1-inch x 6 – inches cast iron 245-00013206-000, Smith Blair 245 or acceptable equal as long as all specifications match.	50	EA.	\$22.90	\$1,145.00	\$11.78	\$589.00
16	14	Clamp 1-1/2 inches x 6-inches cast iron repair 245-00019006-000 Smith Blair 245 or acceptable equal as long as all specifications match.	25	EA.	\$26.20	\$655.00	\$13.50	\$337.50
17	15	Clamp, 2-inches x 10- inches cast iron FC repair range 2.35 – 2.63 Dresser 360 Smith Blair 226 or acceptable equal as long as all specifications match.	150	EA.	\$140.29	\$21,043.50	\$94.41	\$14,161.50
18	16	Clamp 2 ½ inches x 10-inch cast iron FC repair range 2.70 – 3.00 Dresser 360 Smith Blair or acceptable equal as long as all specifications match.	40	EA.	\$149.72	\$5,988.80	\$93.30	\$3,732.00

withess signature:		
Agent Signature:	Purchasing Director Signature:	BOC Award Approval Date:

	А	В	С	D	E	F	G	Н
1					Ferguso	n Waterworks	Core 8	& Main LP
2	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
19	17	Clamp, 3-inches x 10-inches FC repair range 3.46 – 3.70 Dresser 360 Smith Blair 226 or acceptable equal as long as all specifications match.	15	EA.	\$147.82	\$2,217.30	\$95.58	\$1,433.70
20	18	Clamp 3-inches x 10-inches cast iron, FC repair, range 3.73 – 4.00 Smith Blair 226- 0375-010 or acceptable equal as long as all specifications match.	5	EA.	\$152.99	\$764.95	\$96.91	\$484.55
21	19	Clamp 4-inches x 10-inches steel FC repair range 4.45 – 4.73 Dresser 360 Smith Blair or acceptable equal as long as all specifications match.	5	EA.	\$159.87	\$799.35	\$103.37	\$516.85
22	20	Clamp, 4-inches x 10-inch cast iron FC repair range 4.74 – 5.14 Smith Blair 226 or acceptable equal as long as all specifications match.	5	EA.	\$170.05	\$850.25	\$110.20	\$551.00
23	21	Clamp 12-inches x 15-inches FC repair range 13.10 – 14.30 Smith Blair 227-132015 or acceptable equal as long as all specifications match.	10	EA.	\$643.40	\$6,434.00	\$420.74	\$4,207.40
24	22	Clamp, 12-inches x 15-inches FC repair range 13.10 – 13.50 Smith Blair 226 132015-000 or acceptable equal as long as all specifications match.	2	EA.	\$460.32	\$920.64	\$273.37	\$546.74
25	23	Clamp 6 inches x 10-inches FC repair range 7.05 – 7.45 O.D. Smith Blair 226 or acceptable equal as long as all specifications match.	120	EA.	\$192.17	\$23,060.40	\$124.25	\$14,910.00
26	24	Clamp 42-inches x 20-inches Four Band FC repair, range 42.00 – 43.60 .D. 100-115 PSI, Smith Blair 226 or acceptable equal as long as all specifications match.	4	EA.	\$3,967.87	\$15,871.48	\$2,500.00	\$10,000.00
27	25	Clamp 6-inches x 15- inches F C repair AC range 7.05 – 7.45 Smith Blair 226 or acceptable equal as long as all specifications match.	70	EA.	\$279.44	\$19,560.80	\$181.10	\$12,677.00
28	26	Clamp 8-inches x 10-inches FC repair AC range 9.27 – 9.67 Smith Blair or acceptable equal as long as all specifications match.	30	EA.	\$244.11	\$7,323.30	\$167.56	\$5,026.80
29	27	Clamp 8- inches x 15-inches, FC repair AC range 9.27-967. Smith Blair 226 or acceptable equal as long as all specifications match.	20	EA.	\$343.64	\$6,872.80	\$222.70	\$4,454.00
30	28	Clamp, 6 inch Bell Joint, for Stab Joint Pipe, Dresser 60-S 226 or acceptable equal as long as all specifications match.	10	EA.	\$272.49	\$2,724.90	\$180.00	\$1,800.00
31	29	Clamp, 1 ½- inches x 6-inch repair, Dresser 118, Smith Blair 245 or acceptable equal as long as all specifications match.	50	EA.	\$26.20	\$1,310.00	\$13.48	\$674.00
32	30	Clamp, 3 –inches x 21-inches FC repairs range 29.00 -30, 40, 100-115 PSI, Smith Blair x 267 High Pressure, or acceptable equal as long as all specifications match.	4	EA.	\$3,952.42	\$15,809.68	\$135.00	\$540.00
33	31	Clamp, 33 inches x 20-inches, FC repair range 35.90 – 37.10 100-115 PSI Smith Blair x 267 High Pressure, or acceptable equal as long as all specifications match.	4	EA.	\$5,638.86	\$22,555.44	\$3,403.00	\$13,612.00

Witness Signature:	

	А	В	С	D	E	F	G	Н
1					Ferguso	on Waterworks	Core 8	& Main LP
2	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
34	32	Clamp, 36-inches x 20-inches, FC repair range 37.75 – 38.95, 100-115 PSI, Smith Blair X267 High Pressure, or acceptable equal as long as all specification match.	4	EA.	\$5,727.28	\$22,909.12	\$3,705.00	\$14,820.00
35	33	Coupling, 14-inch Compression for Ductile Iron, Cast Iron and Steel Pipe, Smith Blair # 413, 15.30 – 15.30 – 125.65 or acceptable equal as long as all specification match.	2	EA.	\$735.99	\$1,471.98	\$374.12	\$748.24
36	34	Coupling, 16-inches compression for Ductile iron, Cast Iron a <b>nd</b> Steel Pipe, Smith Blair # 413,17.40-17.80 or acceptable equal as long as all specification match.	2	EA.	\$790.30	\$1,580.60	\$459.95	\$919.90
37	35	Coupling, 16-inch Compression for Ductile Iron, Cast iron and Steel Pipe, Smith Blair # 413, <b>16.00</b> -17.40 or acceptable equal as long as all specification match.	2	EA.	\$1,085.12	\$2,170.24	\$450.00	\$900.00
38	36	Coupling, 18-inch Compression for Ductile Iron, Cast Iron and Steel Pipe, Smith Blair # 413, 18.00- 19.50 or acceptable equal as long as all specification match.	2	EA.	\$1,223.78	\$2,447.56	\$490.00	\$980.00
39	37	Coupling, 16-inch Compression, 17.50 – 18.49 x 15.00 – 16.99 for transition (one kind of pipe to another) Smith Blair #415 or acceptable equal as long as all specification match.	2	EA.	\$2,142.82	\$4,285.64	\$617.00	\$1,234.00
40	38	Coupling,18-inch Compression $18.50 - 19.49 \times 17.00 - 18.99$ for transition (one kind of pipe to another) Smith Blair #415 or acceptable equal as long as all specification match.	2	EA.	\$2,293.99	\$4,587.98	\$694.00	\$1,388.00
41	39	Coupling, 1-1/2-inch, Hymax Compression, range 1.61 – 2.13 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	150	EA.	\$185.21	\$27,781.50	\$122.80	\$18,420.00
42	40	Coupling, 2-inch Hymax Compression, range 2.10 – 2.60 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	180	EA.	\$195.27	\$35,148.60	\$129.50	\$23,310.00
43	41	Coupling, 3-inch Hymax Compression range 3.46 – 4.33 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	100	EA.	\$257.59	\$25,759.00	\$170.80	\$17,080.00
44	42	Coupling, 4-inch Hymax Compression, range 4.25 - 5.63 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	30	EA.	\$330.08	\$9,902.40	\$218.90	\$6,567.00
45	43	Coupling, 6-inch Hymax Compressions, range 6.42 – 7.68 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	300	EA.	\$437.14	\$131,142.00	\$290.00	\$87,000.00
46	44	Coupling, 8-inch Hymax Compression, range 8.54 – 9.84 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	100	EA.	\$493.55	\$49,355.00	\$327.00	\$32,700.00

Witness Signature:		
Agent Signature:	Purchasing Director Signature	BOC Award Approval Date:

	А	В	С	D	E	F	G	Н
1					Ferguso	on Waterworks	Core 8	& Main LP
2	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
47	45	Coupling, 10-inch Hymax Compression, Range 10.70 – 12.00 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	20	EA.	\$634.91	\$12,698.20	\$421.00	\$8,420.00
48	46	Coupling, 10-inch Hymax Compression range 10.96 – 11.63 Oversize as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	20	EA.	\$671.48	\$13,429.60	\$445.00	\$8,900.00
49	47	Coupling, 12inches, Hymax Compression, Range 12, 40 – 13.66 as manufactured by Total Piping Solution or acceptable equal as long as all specification match.	6	EA.	\$749.57	\$4,497.42	\$497.00	\$2,982.00
50	48	Coupling, 12-inch Hymax Compression, Range 13.15 – 14.41 Oversized as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	6	EA.	\$896.75	\$5,380.50	\$594.00	\$3,564.00
51	49	Coupling, 14-inch Hymax Compression, Range 15.00 – 17.10 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	20	EA.	\$1,991.22	\$39,824.40	\$1,321.00	\$26,420.00
52	50	Coupling, 16-inch Hymax Compression, Range 17.10-19.20 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	20	EA.	\$2,052.59	\$41,051.80	\$1,361.00	\$27,220.00
53	51	Coupling, 18-inch Hymax Compression, Range 19.50 – 21.60 as manufactured by Total Piping Solution or acceptable equal as long as all specification match.	6	EA.	\$2,414.71	\$14,488.26	\$1,602.00	\$9,612.00
54	52	Coupling, 20-in Hymax Compression, Range 21.50 – 23.60 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	6	EA.	\$2,607.84	\$15,647.04	\$1,730.00	\$10,380.00
55	53	Coupling, 24-inch Hymax Compression, Range 24.60 – 26.70 as manufactured by Total Piping Solutions or acceptable equal as long as all specification match.	6	EA.	\$2,776.87	\$16,661.22	\$1,842.00	\$11,052.00
56	54	Coupling, 3-inch cast iron compression, Smith Blair 441-350. O.D. 3.50 – 3.50 or acceptable equal as long as all specification match.	30	EA.	\$104.79	\$3,143.70	\$66.37	\$1,991.10
57	55	Coupling, 3-inch cast iron compression, Smith Blair 441-0396 O. D. 3.80 – 3.96 or acceptable equal as long as all specification match.	20	EA.	\$104.79	\$2,095.80	\$62.68	\$1,253.60
58	56	Coupling, 4-inch Cast Iron Compression, Smith Blair 441-0510, O.D. 4.80 – 5.10 or acceptable equal as long as all specification match.	10	EA.	\$138.71	\$1,387.10	\$84.90	\$849.00
59	57	Coupling, 12-inch Cast Iron Pipe compression, Smith Blair 441.1350, O.D. – 13.50 or acceptable equal as long as all specification match.	4	EA.	\$418.17	\$1,672.68	\$278.00	\$1,112.00
60	58	Piece 6-inch I.D. Steel Spigot 8-inch long fitted with 6-inch 125 lb. companion flange or acceptable equal as long as all specification match.	2	EA.	\$1,403.23	\$2,806.46	\$225.00	\$450.00

Witness Signature:		
Agent Signature:	Purchasing Director Signature:	BOC A

BOC Award Approval Date: \_\_\_\_\_

	А	В	С	D	E	F	G	Н
1					Ferguso	on Waterworks	Core 8	& Main LP
2	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
61	59	6-inches x 8-inch Spigot MJ Fitted Ductile iron or acceptable equal as long as all specification match.	4	EA.	\$883.34	\$3,533.36	\$300.00	\$1,200.00
62	60	Pieces 8-inch I.D. Steel Spigot, 8-inches long fitted Ductile iron or acceptable equal as long as all specification match.	2	EA.	\$1,935.49	\$3,870.98	\$325.00	\$650.00
63	61	8-inches x 8-inch Spigot MJ Fitted Ductile iron or acceptable equal as long as all specification match.	4	EA.	\$1,139.45	\$4,557.80	\$350.00	\$1,400.00
64	62	Pieces 8-inch I.D. Steel Spigot, 8-inches long fitted with 8-inches 125 lb. companion flange or acceptable equal as long as all specification match.	2	EA.	\$1,935.49	\$3,870.98	\$360.00	\$720.00
65	63	12-inches x 8-inches Spigot MJ fitted ductile iron or acceptable equal as long as all specification match.	4	EA.	\$1,861.68	\$7,446.72	\$450.00	\$1,800.00
66	64	Saddle, 6-inch x 1 ½ inch Double Strap Service, CC Thread Smith Blair 331-074031-000 or acceptable equal as long as all specification match.	100	EA.	\$134.08	\$13,408.00	\$70.77	\$7,077.00
67	65	Saddle, 8-inches x 1 ½-inchy Double Strap Services CC Threads, Smith Blair331-0963- 000 or acceptable equal as long as all specification match.	100	EA.	\$181.95	\$18,195.00	\$96.00	\$9,600.00
68	66	Saddle, 6-inches x ¾ inch Double Strap Service repair CC Threads Smith Blair 331- 074007 or acceptable equal as long as all specification match.	800	EA.	\$121.35	\$97,080.00	\$64.00	\$51,200.00
69	67	Saddle, 6 inch x 1-inch, Double Strap Service repair CC Thread Smith Blair 331, 00096307- 000 or acceptable equal as long as all specification match.	100	EA.	\$121.35	\$12,135.00	\$64.00	\$6,400.00
70	68	Saddle 8-inch x 3/4-inch, Double Strap Services Repair, CC Threads, Smith Blair 331-00096307-000 or acceptable equal as long as all specification match	120	EA.	\$140.73	\$16,887.60	\$74.29	\$8,914.80
71	69	Saddle 8-inch x 1-inch Double Strap Services, range 2.38 – 2.50, Smith Blair 331-0096309- 000 or acceptable equal as long as all specification match.	30	EA.	\$140.73	\$4,221.90	\$74.29	\$2,228.70
72	70	Saddle, 6-inch x ¾-inch Double Strapped Services Range 2.38 – 2.50, Smith Blair 313- 0256070096309000 or acceptable equal as long as all specification match.	60	EA.	\$36.11	\$2,166.60	\$20.25	\$1,215.00
73	71	Saddle 12-inch x 1 ½-inch Double Strap Services repair CC Threads, range 13.14 – 14.38 Smith Blair Smith Blair 331-14381-000 or acceptable equal as long as all specification match.	30	EA.	\$275.29	\$8,258.70	\$145.31	\$4,359.30
74	72	Saddle, 16-inch x 1 ½-inch Double Strap Services CC Threads, range 17.40 – 18.88 Smith Blair 313-188813 or acceptable equal as long as all specification match.	5	EA.	\$234.91	\$1,174.55	\$125.58	\$627.90

Witness Signature:	

	А	В	С	D	E	F	G	Н
1					Ferguso	n Waterworks	Core 8	& Main LP
2	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
75	73	Saddle, 10-inch x 1 ½-inch Double Strap Services CC Threads, range 11.04 – 12.12 Smith Blair 313-331-121213-000 or acceptable equal as long as all specification match.	5	EA.	\$191.50	\$957.50	\$101.00	\$505.00
76	74	Saddle, 4-inch x ¾-inch Double Strap Services Repair CC Thread, Smith Blair 331- 00053207-000, or acceptable equal as long as all specification match.	4	EA.	\$112.81	\$451.24	\$64.41	\$257.64
77	75	Saddle, 12-inch x 3/4-inch Double Strap Services Repair CC Thread, Smith Blair 331- 00143809-000 or acceptable equal as long as all specification match.	16	EA.	\$253.35	\$4,053.60	\$133.74	\$2,139.84
78	76	Saddle, 12-inch x 1-inch Double Strap Services Repair CC Thread, Smith Blair 331- 00143809-000 or acceptable equal as long as all specification match.	8	EA.	\$253.35	\$2,026.80	\$133.74	\$1,069.92
79	77	Saddle, 10-inches x 1-inch, Double Strap Service Repair, CC Threads, Smith Blair 331- 00121209-00 or acceptable equal as long as all specification match.	4	EA.	\$175.76	\$703.04	\$92.77	\$371.08
80	78	Saddle, 10 inches x 3/4 –inch Double Strap Service Repair, CC Threads, range 10.64 – 12.12 Smith Blair 331-00121207-000 or acceptable equal as long as all specification match.	12	EA.	\$175.76	\$2,109.12	\$92.77	\$1,113.24
81	79	Saddle, 16-inches x 3/4 –inch Double Strap Service CC Threads range 17.40 – 18.88 Smith Blair 313-188807, or acceptable equal as long as all specification match.	4	EA.	\$200.10	\$800.40	\$125.55	\$502.20
82	80	Saddle, 16-inches x 1 –inch Double Strap Service CC Threads range 17.40 – 18.88 Smith Blair 313-188809, or acceptable equal as long as all specification match.	4	EA.	\$200.10	\$800.40	\$125.55	\$502.20
83	81	Saddle, 20-inches x 1—inch Double Strap Service CC Threads Smith Blair, or acceptable equal as long as all specification match.	4	EA.	\$303.18	\$1,212.72	\$183.40	\$733.60
84	82	Saddle, 20-inches x 1 1/2—inch Double Strap Service CC Threads Smith Blair, or acceptable equal as long as all specification match.	4	EA.	\$325.16	\$1,300.64	\$210.40	\$841.60
85	83	Sleeve, AWWA, Class A-B, 6 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	2	EA.	\$8,369.68	\$16,739.36	\$5,419.00	\$10,838.00
86	84	Sleeve, AWWA, Class A-B, 8 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	2	EA.	\$9,830.31	\$19,660.62	\$6,360.00	\$12,720.00
87	85	Sleeve, AWWA, Class A-B, 12 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	2	EA.	\$11,418.18	\$22,836.36	\$7,388.00	\$14,776.00
88	86	Sleeve, AWWA, Class A-B, 16 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	1	EA.	\$14,096.96	\$14,096.96	\$9,121.00	\$9,121.00

Witness Signature:	

	А	В	С	D	E	F	G	Н
1					Ferguson Waterworks		Core & Main LP	
2	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount
89	87	Sleeve, AWWA, Class A-B, 24 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	1	EA.	\$18,048.50	\$18,048.50	\$11,677.00	\$11,677.00
90	88	Sleeve, AWWA, Class A-B, 20 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	1	EA.	\$16,248.50	\$16,248.50	\$10,512.00	\$10,512.00
91	89	Sleeve, AWWA, Class A-B, 30 inches Bell Pack – Dresser 126 or acceptable equal as long as all specification match.	1	EA.	\$21,830.31	\$21,830.31	\$14,124.00	\$14,124.00
92	90	Adapter Flanged Coupling 3-inches O.D. 3.44 – 3.56 Smith Blair 912 or acceptable equal as long as all specification match.	10	EA.	\$160.58	\$1,605.80	\$107.00	\$1,070.00
93	91	Adapter Flanged Coupling 4-inches O.D. 4.80 – 5.10 Smith Blair 912 or acceptable equal as long as all specification match.	10	EA.	\$200.47	\$2,004.70	\$133.94	\$1,339.40
94	92	Adapter Flanged Coupling 6-inches O.D. 6.90 – 7.20 Smith Blair 912 or acceptable equal as long as all specification match.	20	EA.	\$308.57	\$6,171.40	\$199.00	\$3,980.00
95	93	Adapter Flanged Coupling 8-inches O.D. 9.05 – 9.40 Smith Blair 912 or acceptable equal as long as all specification match.	20	EA.	\$423.55	\$8,471.00	\$252.00	\$5,040.00
96	94	Clamp, Bell Joint Leak, 6-inch. O.D., 6.90 - 7.10 Smith Blair 274 or acceptable equal as long as all specification match.	10	EA.	\$272.49	\$2,724.90	\$180.00	\$1,800.00
97	95	Clamp, Bell Joint Leak, 8-inch. O.D., 9.05 – 9.30 Smith Blair 274 or acceptable equal as long as all specification match.	10	EA.	\$376.51	\$3,765.10	\$253.40	\$2,534.00
98	96	Saddle all stainless steel 6 x 3/4cc, WR. O, D., 6.63-7.23, Smith Blair 372 or acceptable equal as long as all specification match.	40	EA.	\$150.13	\$6,005.20	\$90.85	\$3,634.00
99	97	Saddle all stainless steel 8 x 3/4cc, WR. O, D., 8.63 - 9.83, Smith Blair 372 or acceptable equal as long as all specification match.	40	EA.	\$152.34	\$6,093.60	\$97.62	\$3,904.80
100	98	Saddle all stainless steel 6 x 1cc, WR. O, D., 6.63-7.23, Smith Blair 372 or acceptable equal as long as all specification match.	20	EA.	\$134.97	\$2,699.40	\$90.83	\$1,816.60
101	99	Saddle all stainless steel, 8C 1cc, WR 8.63 – 9.83 Smith Blair 372 or acceptable equal as long as all specification match.	20	EA.	\$136.96	\$2,739.20	\$93.88	\$1,877.60
102	100	Saddle all stainless steel, 6 x 3/4cc, WR, O.D. 6.63 – 7.23 Smith Blair 265 or acceptable equal as long as all specification match.	60	EA.	\$346.08	\$20,764.80	\$151.92	\$9,115.20
103	101	Saddle all stainless steel 8 x 3/4cc, WR, O.D., 8.63 – 9.83, Smith Blair 265 or acceptable equal as long as all specification match.	80	EA.	\$378.23	\$30,258.40	\$169.65	\$13,572.00
104	102	Saddle all stainless steel 6 x 1cc, WR, O.D., 6.63 – 7.23, Smith Blair 265 or acceptable equal as long as all specification match.	20	EA.	\$346.08	\$6,921.60	\$151.92	\$3,038.40
105	103	Saddle all stainless steel 8 x 1cc, WR, O.D., 8.63 – 9.83, Smith Blair 265 or acceptable equal as long as all specification match.	20	EA.	\$378.23	\$7,564.60	\$169.00	\$3,380.00

Witness Signature:	

Judi Moore -for Angel Fraizer Agent Price Opening: October 16, 2023 @ 11:00 A.M.

	А	В	С	D	E	F	G	Н	
1					Ferguson Waterworks		Core & Main LP		
	Item No.	Description	Estimated Number of Units	Unit of Measure	Unit Price	Extended Amount	Unit Price	Extended Amount	
106		GRAND TOTAL (for evaluative purposes only)			\$1,282,085.75		\$774,133.35		
107									
108	Number of	Number of Bids Received:			2				
109	LSBE Participation			GFE					
110	Attendance	Attendance at the Mandatory LSBE Meeting (Yes or No)			YES				
111	Bid Pricing in separate sealed envelope (Yes or No)			YES					
112									
	Recommend award to: Core & Main LP, 670 Hancock Industrial Way, Athens, GA 30605								
	Notes:	es:							
		On line item 22, Core & Main entered \$2,733.70 as the 'extended amount'. The amount reflected on the bid tabulation in red represents the correct amount when multiplying the unit price by the estimated number of units. The County considers the unit price to be							
		e correct price when discrepancies exist.							
113	2. On line item 84, Core & Main entered \$12,520.00 as the 'extended amount'. The amount reflected on the bid tabulation in red represents the correct amount when multiplying the unit price by the estimated number of units. The County considers the unit price to be correct price when discrepancies exist								

Witness Signature: